Fabool Laser CO2 hH/\— /x5 1) Xk

No. |EBfm% 53 [EE:
1|cover bottom SPCC 1
2|cover bottom_back |SPCC 1
3|cover_inner SPCC 1
4 |cover left SPCC 1
S|cover right SPCC 1
6|cover back SPCC 1
7|cover top back SPCC 1
8|cover front SPCC 1
9linner acrylic 7' 1




Fabool Laser CO2 7O JIJL /Ny x5 1) X k

No. |#&E% B3 EE
1|top cover 7O Ul 2
2|bed long 7O U 2
3|bed short 7L 2
AlEsEfEGEL 72 1
S|&mcHHERE2 7L 1
6|cover back 7% 1 JL 7o) 1
7|cover left7 27 1) )L 7O 1
8|laser tuble support top 7O 2
9|laser tuble support under 72 2




FABOOL Laser CO2 ZILZ DL —L Xy X H 1) X k

No. [EB G4 RS B
11848mm V-slot 20mm*40mm 1
2|(780mm V-slot 20mm*40mm 2
3[860mm 7L T L—L FE#E 20mm*40mm 3
41860mm 7ILT T L—L FE#E 20mmA 6
5(810mm 7L T L—L FZ#E 20mmA 2
6/800mm 7ZIL X T L—L FE#E 20mmA 2
7/780mm 7ZILE D L—L FZ#E 20mmA 2
8(529mm 7ZILZ T L—L X 20mmE 3
9(315mm 7IL X 7 L—L ZHE 20mmA 2

101295mm 7ILE DL —ALA E2 20mmA 2
11(170mm 7L T L—L EHE 20mmA 2
12(145mm 7ILE 7 L—L A 20mmE 2
13{90mm 7 JLE 7 L—L ZHE 20mmA 2
14 ARA7ILEOL—L TZ5yk/A— [ & : 610mm 14
15{40W L—H—%& CO2L—H—& 1




Fabool Laser CO2 Ah/\—Y-

BEES /NyF TR

No. |Epfms E5 GRS
1L—Y—BERIT L 2
2|THEAT 22 v FHF 1
3R By FaARY S L
4|43 2
5/HF 1
6|solid v wheel 12
b VAWM 50
8|XECT2R A S VI XN)L k 900mm 1
O|YEAGT2R2 A4 S VI XN)L b 650mm 2
10|GT28 A =229 T—1)— 3
11(625-2RS 24
128 TS5y b 1
13|t REET 7 v b+ 2
14| DFHHRL 1
1I5IM5 TF v k 220
16|M5x8 NEIUFARIL ~ 140
17|lens nut 7ILEINIER & 1
18|lens mount guide 7L NI ER & 1
19|lens mount T7ILZINIER 1
20|{wheel plate motor mount 7L INITER & 1
21|wheel plate x-axis 7L NI HR&m 1
22|wheel plate y-axis 1) 2
23|carrier mount x-axis AT ULAMIENS 2
24 |carrier mount y-axis ATULAMIER&GRE| 2
25 |air assist holder AT LAMIERH 1
26 (limit mount 7L INIEB A 3
27 |limit mount y1 7L NI ER S 1




28|EHX L VX =M :Znsep:20m| 1
29| R 5 — =% :Mog:25mm| 3
30 |imF & 1
31|\ )LD FUSBT—T )L 1
32IlUSBARZ7 54 a7 1
3|ELETS—HRA7ILTTL—ALA 45°H v k 1
34|F22S—HA7ILITL—LA 45°h v k 1
BIHARRTY VG 2
36|TLZE 4
37|MXKER) D LA UFa—T |3m 1
38lFEHR/\Y FEIEER 17
9kmHR—R 2m 1
40()KAmR T 1
A1\KA R TRRD 4
A2\KABRTRILTI 1
43|52 T—2—HDCT7 7 v 2
44|LED DCZ7 7 > 1
A5\ 70—t Y — 1
46 |7TR— R g F 2
47|AC-Laserr— T )L —JI)L 1
48|AC-Mainr— J )L r—JI 1
49|AC-DCH—T )L r—JI 1
50|AC-Switchs — 7' JL r—JI 1
51|Powerr—7J )L r—JI) 1
52|FAN— )L r—7J)L 1
53|Laserr—JJL r—JI 1
54 |X-Motorsr— J JL r—JI) 1
55|Y-Motor-L4— T JL r—JIN 1
56|Y-Motor-R— J )L r—2JI 1
57 |Switchsr— )L r—JI 1
58|Y1-Limitsr— )L r—JI 1




99

USBS—J)L

r—JI)

60

ACH—TJ )L

—JI)L

61

7—REr—7T )L short

r—JI)L

62

7—R#r—TIJL  longO

RlR|R|P

r—7J )Larsiomsusm

63

EATIST vV b

6

o

64

radiator mount

7L T &G

65

FEE) Ay b

66

—JILFx ¥ 1) 7 x-axis

67

T=OLX¥x VT BT STy

+ x-axis

68

r—JILF v 1) 7 y-axis

69

T=LExx V7 BHITST Y

; y-axis

70

L——FER

71

E5—T9OUhk

72

REA xR

73

AAYFUIER

74

ATYvEVTE—2—

75

Oy Fa—JLER

76

SVI—5%—

RlRrWwlR|IP|IWR[DNN]|R|R|F

KRBT FRICEYFET




Fabool Laser CO2 25 —RX I\ X Gy RX b+

No. e HE |B¥
1{M5x40 {EEERIL k 2
2|M5x25 {EEERJL b+ 4
3|M5x30 {EEERIL b+ 10
4|M5x8 {KEERIL b 20
5|M5x6 {EEERIL b 73
6|M5x20 RAIUTRIL b 8
7|M5x12 REAIUTRIL k 2
8|M5x16 NAEIUTIMARIL k 2
9|M5x8 FRAYTIMAIL b 8

10|M5& ANF v + 6
11{M57F v k 8
12|M57 v & v — 10
13M5FA4 8>+ v bk 13
14|M4x30 XA IUTRIL k 4
15|M4x20 7RAIUTRIL k 4
16|M4x6 RAIUTRIL k 8
17|M4x10 RAITIARIL k 16
18|M4iEANT v b+ 4
19|M4FEANT Y k 4
20|M47+ v b 14
21M4AJ o v — 8
22|M3x28 FRAIUTRIL k 8
23|M3x12 KA AT RIL b 2
24|M3x4 FRAFYTRIL b 1
25|M3x8 FRAIUTHRIL k 6
26|M3x6 XA IUTARIL b 39
27|M3x10 FNAIUTIMAIL b 2




28|M37F v k 2
29|M3 BANT vV b 19
30|M2x8 FRAIUTHRIL k 8
31|M3x5 1B Y 4
32[RARR—H— 4
33|6.35mMmMAN—H— 8
ARID R R—H— 6
35[1.2mm Shim 26
36|M4x12 RAIUTARIL b 2
37|M5x25 RE T IMARIL k 1
BEFETTY L v— 2

KRO=ERMEFIRICGEYFEYS







